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   [ WÜÄÐÜu AíPÜWÜÙÜá : 100  

 [ Max. Marks : 100

Qn. 

Nos. 

Ans. 

Key 
Value Points 

Marks 

allotted 

I.  :  �������� 8 × 1 = 8  

 1.   �	
����
�����  x – y = 8��� ����3x – 3y = 16����� ����� �����������   

(A) ���!"  

(B) ���#$�% 

(C) ���#&'  

(D) ���( 

 Ans. :    

 (B) ���#$�% 1 

C CCE PR 
NSR & NSPR 
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 PR/NSR&NSPR-(C)-(100)-5544 (MA)  

Qn. 

Nos. 

Ans. 

Key 
Value Points 

Marks 

allotted 

 2.  �)*�+,5, 3, 1, – 1, ... (AP) ����-�
.

/�01��  

(A) – 2 (B) 2 

(C) – 3 (D) 5. 

Ans. :   

 (A) – 2
 

1 

 3.  �����x ( x + 1 ) = 5 ����23 

(A) ������ (B) �����4�&��& 
(C) �����4�&�5 (D) �����4�&��6 

Ans. :   

 (B) �����4�&��& 1 

 4.   1 + tan 2 θ  ���� ��7�#�� 

(A) cosec
2

θ   (B) 
θ2cosec

1
 

(C) sec
2

θ   (D) – sec
2

θ  

Ans. :  

 (C) θ2
sec  1 

 5.   cot 90°�� ��8�9(Value)  ���27 

(A) 
3

1
 (B) 1 

(C) 3  (D) 0 

Ans. :  

 (D) 0
 

1 

 6.  � �:P ( a,  b )�� �;�<��(origin)   ���� ��7�=>�? 

(A) ���@�� 22 ba +  (B) ���@�� 22 ba −   

(C) ���@��
 

ba +  (D) ���@��
 

ba −   

Ans. :
 

 

 (A) ���@��
 

22
ba +   1 
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 PR/NSR&NSPR-(C)-(100)-5544 (MA) [ Turn over 

Qn. 

Nos. 

Ans. 

Key 
Value Points 

Marks 

allotted 

 7.   � �A�!"�B�C�D�#&(secant)��EF�G� .��� 

 

(A) AB (B) PQ  

(C) XY (D) MN 

Ans. :  

 (D) MN
 

1 

 8.  
  ‘r’ ���HI�>���J��GK�L���MN����O�P��@�� 

      
2

3

2
rπ��@����Q  (A)  

        
3

3

2
rπ��@���Q  (B) 

      
3

3

4
rπ��@���Q  (C)  

       
2

3

4
rπ�@���Q  (D)  

Ans. :  

 (C) �@���Q
 

3

3

4
rπ   

1 
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 PR/NSR&NSPR-(C)-(100)-5544 (MA)  

 

Qn. 

Nos. 
Value Points 

Marks 

allotted 

II. :  R��S�T��U���VW�X�Y 8 × 1 = 8  

 9. � Z���� �� [�0
111

=++ cybxa� �� ���0
222

=++ cybxa��\]� �̂ _
(inconsistent) ��7��`����a�b7�S�c���dN��
  

Ans. :  

  � ��7�e�S�fT 1 

 10. �)*�+,(AP)�`����&�g�h�?  

Ans. :  

 ��iN��j N�� kl�� � ���B�m��� �no�9�&�)��p��)*�+,������q�&)�r�fT�B�j N��s
��j N��t�u������ ��v�h�wx

  

y�z{:�R&� �|�}�~�d������&�fT�
 1 

 11. �C�#���9������4�&��&yC�G�  ���  
Ans. :  

 0
2 =++ cbxax   1 

 12. � �B�C�D�#&ABC��"��[����������$∠ C = 30°� �� � ���AB = 12 cm�� � 
�7AC � ��GK�f��9
�� 

 

Ans. :  

 

AC

AB
=°30sin  ½ 

 
AC

12

2

1
=  

24=AC cm ½ 1 
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 PR/NSR&NSPR-(C)-(100)-5544 (MA) [ Turn over 

Qn. 

Nos. 
Value Points 

Marks 

allotted 

 13. � �: P ( x,  y ) � ���
�������
� �. ����A ( 

11
, yx  ) � �� ���B ( 

22
, yx  )� ��������J��T

�T�A
21

:mm������ ������}����������B��  

Ans. :  

 














+

+

+

+
=

21

1221

21

1221 ,),(
mm

ymym

mm

xmxm
yxP  

1 

 14.  ���GK��I���i����VW���&: 

 4,  5,  5,  6,  7,  7,  6,  7,  5,  5 

Ans. :  

 5 1 

 15.  ���#&�k
.
N����� �n�y������ . ¡k ¢£

� ¤ ����d� 

Ans. :  

 ��&�M�������� � ������}��¥�¦�T�§¨���&�©����M��
�uv�ª�A�fT�#$�%���«� kl������[�
�a�b7�¬­®

.�N¯�B���°� kl��§¨�  

yz{ :���R&� �|�±�}�~�d��²&³����&�fT� 1 

 16. � �L���
´
µ�

.
/�����¶( V )�� � �f·���9�m���HI�>���J��GK h�� �O�P�������#��

¸
¹�&��&����

1
r

 
�

� ����
2

r���7  

Ans. :  

 ][
3

1

21
2
2

2
1

rrrrhV ++π=    �@�º ��Q
 1 

III. : ��R��S�T��U���VW�X�Y 18 × 2 = 36  

 17.  ���S�?�»¼������
.

½��T�¾	
����
����VW� º��& : 

 2x + 3y  =  7 

 2x  +  y  =  5  
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 PR/NSR&NSPR-(C)-(100)-5544 (MA)  

Qn. 

Nos. 
Value Points 

Marks 

allotted 

Ans. : 

  2x + 3y = 7 ................ (1 ) 

    2x + y = 5 ................ (2) 

��� ��� ���� ��� ��� ��� ���� ��� ��� ��� ���� ��� ��� ���� ��������(1) �� �?(2) }�J��¿À�T  

   2x + 3y = 7 

  2x  + y = 5 ½ 

 (–) (–) (–) 

     2y = 2 

     y =
2

2
 

   y = 1 ½ 

��� ��� ��� ��� ���� ��� ��� ���� ��� ��� ��� ���� ��� ��� ��� ���� ��� ��� ���� ��������(2)��� �By = 1 }�Á� 

 2x + 1 = 5 ½ 

 2x = 5 – 1 

 2 x = 4 

 x = 
2

4
 

 x = 2 ½ 

 1,2 ==∴ yx   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2 

 18.  �)*�+,yAP� 2, 5, 8,  ...... ���� ��12 ���GK�?�²Â����HI�>�j N�����  

Ans. :  

 
2, 5, 8 ....... � �)*�+,�Ã��k�& 

a = 2 

d = 3 

?
12

=a  

n = 12 

d)1( −+= naa
n  ½ 

)3()112(2
12

−+=a  ½ 

 = 2 + 11 ( 3 ) ½ 

 = 2 + 33 

35
12

=a  ½ 

 

 

 

 

 

 

 

 

 

 

2 
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 PR/NSR&NSPR-(C)-(100)-5544 (MA) [ Turn over 

Qn. 

Nos. 
Value Points 

Marks 

allotted 

 19. � ���GK�q�ºwx���)*�+,�VW� º��&�?�²Â����HI�>: 

  7, 11, 15  ...... �� � �l�d���16 

 �k� 
� �)*�+,3, 6, 9, ....�� �q�ºwx���d����c��165����� ��7 

Ans. :  

 7 + 11 + 15 + ........ � �l�d���16  

∴ a = 7 

 d = 4 

 n = 16 

 [ ]d)1(2
2

−+= na
n

S
n

 ½ 

 [ ])4()116()7(2
2

16
−+=  ½ 

]6014[8
16

+=S  ½ 

 = 8 (74)  

 592
16

=S  ½ 

 

 

 

 

 

 

 

 

 

2 

  �k�  

 
3, 6, 9, ......  � �)*�+, 

a = 3 

d = 3 

�Ã��k�& 165=
n

S  

 n = ? 

So,  165 = 3 + 6 + 9 + ........  �l�d��� 'n'  

 165 = 3 [ 1 + 2 + 3 + ........  �l�d��� n ] ½ 

 
2

)1(

3

165 +
=

nn
 ½ 

  55 = 
2

)1( +nn
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 PR/NSR&NSPR-(C)-(100)-5544 (MA)  

Qn. 

Nos. 
Value Points 

Marks 

allotted 

∴    n ( n + 1 ) = 55 × 2 ½ 

 n ( n + 1 ) = 110 

 n ( n + 1 ) = 10 × 11 

 ⇒  n = 10 ½ 

∴  The sum of first 10 terms of the A.P. is 165. 

y�Ä�}�J��Å�
���?�»¼�����fT¾Æ&� �|�  

 

 

2 

 20. �����4 2x  – 12x + 9 = 0� �� ���Ç . �È�����É(discriminant)�����Ç . �È� ������GK�Ê�9
�Ë{�9(nature) ��EF 

Ans. :  

 09124
2 =+− xx  

a = 4,  b = – 12,  c = 9 

�É                        = acb 4
2 −  ½ 

 )9()4(4)12(
2 −−=D  ½ 

 = 144 – 144 

 D = 0 ½ 

�� ��� ��� ��� ����a�#�������Ì��Ç . �È∴   ½ 2 

 21. HI�>�4�&��&��������4�&��&�?�²Â���2x  – 3x + 1 = 0������Ç . �È���GK 

Ans. :  

 013
2 =+− xx  

a = 1, b = – 3, c = 1 

a

acbb
x

2

4
2 −±−

=  ½ 

 = 
)1(2

)1()1(4)3()3(
2 −−±−−

 ½ 

 = 
2

493 −±
 ½ 

 
2

53 ±
=x  ½ 

2 
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Qn. 

Nos. 
Value Points 

Marks 

allotted 

2

53 +
=x   or  

2

53 −
 

 22. �B�C�D�#&ABC� ��[�� ��������$�Í"� kl�AB = 24 cm�� � ÎBC = 7 cm�� � � � � ���AC = 25 cm �
� �
�7sin α � ����cos α ��8�9 (value)  ��Ï 

 

Ans. :  

 
AC

AB
=αsin  ½ 

25

24
sin =α  ½ 

AC

BC
=αcos  ½ 

25

7
cos =α  ½ 

2 

 23. .23 ����?�²Â����HI�>�=>P ( 2,  3 )��� ����Q ( 4,  1 )�����GK�=>�dÐ�&��  

 �k� 
��  A ( – 6,  10 )� �� ���B ( 3,  – 8 )� �� :� T� A� ���� J�� TP ( – 4,  6 )� ���� B� �� ÑT

��� ����`  

Ans. :  

 
 2

12
2

12
)()( yyxxPQ −+−=  ½ 

 = 
22
)31()24( −+−  ½ 

 = 
22
)2(2 −+  ½ 

 = 44 +  ½ 

 = 8  
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 PR/NSR&NSPR

Qn. 

Nos. 

 = 22  units 

 

 � �� ��� ���� ��� ��?�²Â����HI�>�Ò 








+

+
=

21

221),(
mm

xmxm
yxP








+

−
=−

21

21 ,
63

)6,4(
mm

mm

 

21

21
63

4
mm

mm

+

−
=−

 21
344 mm =−−

 22
346 mmm =−

 12
72 mm =  

 
7

2

2

1 =
m

m
 

 ∴  :2:
21

=mm

 

 24. �����B���9  

Ans. : 

 

AC : CB = 1 : 3 

Ó AB = 8·46 m A 

�� .�� Ô
.

Õ�#����6�����A�M&x����$

� .�Ö BACA
41

|| . 

10 CCE P

PR/NSR&NSPR-(C)-(100)-5544 (MA) 

Value Points 

 

 �k� 

 








+

+

21

12211 ,
mm

ymymx
 








+

+−

21

21
108

,
mm

mm
 

2  

21
63 mm −  

11
4mm +  

7:  

y���×�Ä�±�J��Ø$�I¾ �|� 

� �?�»¼���#ÙÚ�T�iN������Û�A� kl����f�1 : 3������B���9

 

 

�� .�� Ô
.

Õ�#����6�����A�M&x����$ 

CCE PR/NSR & NSPR 

 

Marks 

allotted 

2 

 

½ 

½ 

½ 

½ 

2 

8·4 cm�� �?�»¼���#ÙÚ�T�iN������Û�A� kl����f�
 

½ 

½ 

1 2 
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 PR/NSR&NSPR-(C)-(100)-5544 (MA) [ Turn over 

Qn. 

Nos. 
Value Points 

Marks 

allotted 

y�Ä�}�J��Å�
�?�»¼�����fT¾R&� �|�  

 25.  � �q�ºwx���&�)���&30�� �-�
.

/�dÐ�&���dN�����20 ���Ü�k��&�&�)����  

Ans. :  

 �&�)���&�Ý����Þ�
.

/x������y �a  

�ßà���d�  

 x + y = 30 

 x – y = 20 ½ 

 2x = 50 

 
2

50
=x  

 x = 25 ½ 

}�Á� x = 25 B x + y = 30 

 25 + y = 30 ½ 

 y = 30 – 25 

 y = 5 ½ 

∴����� �&�)���&25  �� �����5 �a 2 

 26.  �f�á�10��� �&�)����-â�ã(integers)����GK�q�ºwx��  

Ans. :  

 1 + 3 + 5 + ...........  �l�d��� 10 

a = 1 

d = 2 

n = 10 

]d)1(2[
2

−+= na
n

s
n

 ½ 

])2()110()1(2[
2

10

10
−+=S  ½ 

  = 5 [ 2 + ( 9 ) 2 ] ½ 

  = 5 [ 2 + 18 ] 

100
10

=S  ½ 2 
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 PR/NSR&NSPR-(C)-(100)-5544 (MA)  

Qn. 

Nos. 
Value Points 

Marks 

allotted 

[ �Ä�}�J��Å�
���?�»¼�����ä¾Æ&� �|   ] 

 27.  ( x – 3 ) ( x + 5 ) = 0����GK��Ç . �È�ã�� 

Ans. :  

  
( x – 3 )  ( x + 5 ) = 0 

x – 3 = 0 or x + 5 = 0 1 

x = 3 or x = – 5 ½ 

    ½   ∴                         � ��Ç . �È�ã3��   

 

 

 

2 

 28. ��� � �å� Ô�2 tan 48° . tan 42° = 2  

Ans. :  

 LHS = 2 tan 48° . tan 42° ½ 

 = 2 . tan 48° . cot ( 90° – 42° ) ½ 

 = 2 tan 48° . cot 48° ½ 

  = 
°

×°×
48tan

1
48tan2   

 = 2 = RHS ½ 2 

 29. �dæ��#�
.
çg����è�é�2�k��ê(central tendencies)���EF�G� .������� Ôëk ì̧íî��&�fT�� 

Ans. :  

 G� .������ Ô
¸

Õî�9�dæ��#�
.
çg  

1) ØÐ�& Mean 

2) ïð� Median 

3) �I Mode y�&�fT�  2 

 30.  �ñò������Ô¢¡Ô¢¯��&(simila) � ��ó�ô���J7(conditions) ���� 

Ans. :  

 [���a�b7�ñò����Ô¢¡Ô¢¯��&  

1 (i)  �� �¹�� �¹�õ��$�#ö���dN�y#�� ��7  2 



 CCE PR/NSR & NSPR 

 PR/NSR&NSPR

Qn. 

Nos. 

  

 31. ���� ��÷�T�M�
¸
¹�&�&
I�������i��«�� �����i��Ý���Ã��k�Ö�ø¼�i��T  

�
�7AB + CD����GK 

Ans. : 

 AB + CD = AP + PB + 

 = AS + BQ 

  

 = 4 + 5 + 3 + 4

AB + CD = 16 cm 

 32. 

Ans. : 

 

���
�
¹� AB  

  

  

13 

PR/NSR&NSPR-(C)-(100)-5544 (MA) 

Value Points 

  ��27�#�����dÐ�&����ù�#ö���dN�

�ú��6� kl�ABCD������ ��÷�T�M�
¸
¹�&�&
I�������i��«�� �����i��Ý���Ã��k�Ö�ø¼�i��T

 

DS��ÎAS = 4 cm�Î CQ = 3 cm���� BQ = 5 cm��
�7

+ CR + RD 

 + CQ + DS   

 

= 4 + 5 + 3 + 4  

�B�¾�
¸
¹�&���O�P5 cm���EÖ��

�
¹�� kl����f� 

 

 

� .�Ö�M�
¸
¹�&

Q �û� ü� T� M�
¸
¹�&� ?� :� ��ý

�#����@��9�iþ�a�27  

81-U 

[ Turn over 

Marks 

allotted 

1 (ii)  

 �ú��6� kl�

�[�DS = 4 cm

 

½ 

1 

 

½ 2 

 3 cm��B�¾�
¸
¹�&���O�P

 

 

� .�Ö�M�
¸
¹�& 1 2 

Q 
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 PR/NSR&NSPR-(C)-(100)-5544 (MA)  

Qn. 

Nos. 
Value Points 

Marks 

allotted 

  � .�Ö��
�
¹� 1 

 33. 21 cm�� �i� �9�M�
¸
¹�&���O�P(arc)��}��

.
çg���M�

¸
¹�&�
���Ü�k��&�f��960°�����2Ö����$�� 

Ans. :  

 r = 21 cm 

θ = 60° 

� � ��� ��� ���� ��� ��� ���f��9�i� = rπ×
°

θ
2

360
  ½ 

   = 
1

3

1

1

126

1

21
7

22
2

360

60
×××

°

°
 1 

  �� ��� ��� ��f��9�i�= 22 cm ½ 2 

 34. 
 �O�P���M)"��m���GK������� �M��9�Ø���� kl�7 cm���f·������10 cm����  

Ans. :  

 ������ �M��9�Ø��� = rhπ2  ½ 

  = 107
7

22
2 ×××  ½ 

  = 44 × 10 ½ 

  = 440 cm
2

 ½ 2 

IV. 
: R��S�T��U�����VW 9 × 3 = 27  

 35. 
 �j N���� ���m���GK�)*�+,16��� ������7�j N�����5���?�j N��R�12�����M&�k�$ 

Ans. :  

 16
3

=a  

12
57

+=aa   ��� ½ 

16
3

=a  

∴  a + 2d = 16 ........... (1) ½ 

12
57

+=aa  

a + 6d = a + 4d + 12 ½ 

2d = 12 

2

12
=d  

 d = 6 ............... (2) ½ 

 

 

 

 

 

 

 

 

 

 

 



 CCE PR/NSR & NSPR 15 81-U 

 PR/NSR&NSPR-(C)-(100)-5544 (MA) [ Turn over 

Qn. 

Nos. 
Value Points 

Marks 

allotted 

                                                           ���� (1) �B d = 6 �}�Á�  

 a + 2d = 16  

 a + 2 (6) = 16 

 a + 12 = 16 ½ 

 a = 16 – 12 

 a = 4 

∴  a, a + d, a + 2d, .............. )*�+, 

 4, 10, 16, .....................  ½ 

 

 

 

 

 

 

 

 

 

 

 

3 

 36. �9�d��3� ����9�t�²	yB�²	 �� ����5 �q�ºwx����
������9���²	
3

1� ����M&
I�9�iN����

���GK 

 �k� 

� �
�� kl�360 km� �� �����9�i��[�������?�������5��=>���M��
�27�M&�k�$����� � ´ k��1� �����
���GK�����9�
����2���

¸ �� �B  

Ans. :  

    ����M&
I�9�d���Ý����Þ�
.

/' x '  ��²	  
  3�� ���9�iN��t�²	( x – 3 )  � �²	  

½  �����5 ���9�iN��� �²	( x + 5 ) �� �7�²	  
  �ßà����|K�D�#&  

3

1

5

1

3

1
=

+
+

− xx
 ½ 

3

1

152

35

2
=

−+

−++

xx

xx
 ½ 

3

1

152

22

2
=

−+

+

xx

x
 

)152(1)22(3
2 −+=+ xxx  ½ 

 066152
2 =−−−+ xxx  

 0214
2 =−− xx  
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 PR/NSR&NSPR-(C)-(100)-5544 (MA)  

Qn. 

Nos. 
Value Points 

Marks 

allotted 

 02137
2 =−+− xxx  ½ 

 0)7(3)7( =−+− xxx  

 ( x – 7 )  ( x + 3 ) = 0 

 x – 7 = 0 or x + 3 = 0 

 x = 7  or x = – 3 ½ 

  �� �7�e�� �  

 ∴  � ���M&
I�9�d��7 ���²	  

 

 

 

3 

  �k�  

   �����9�
��Ý����Þ�
.

/x km /h����  

   �=>�Ã�h��
¸ ��  360 km  

  � �Ý�a��v�̂=� �
�

��  

½  ∴ � � � �
�

���Ã� �?�
�
x

360�!  

½  � ����[�5 km/hr �� ����9�
�� M"�V#� 
�7� M&�k�$( x + 5 ) km/hr�� �B���$�i�
� �

�
���Ã

5

360

+x
 

��  

Ã��k�&��                                    

 1
5

360360
=

+
−

xx
 ½ 

 1
)5(

360)5(360
=

+

−+

xx

xx
 ½ 

 1
)5(

3601800360
=

+

−+

xx

xx
 

 xx 51800
2 +=  

 018005
2 =−+ xx  

 018004045
2 =−−+ xxx  ½ 

 0)45(40)45( =+−+ xxx  

 ( ) 040)45( =−+ xx  

 ∴  x + 45 = 0   or   x – 40 = 0  

 x = – 45   or x = 40 ½ 

  ∴ � �7�e�� �����9�
�  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
3 
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 PR/NSR&NSPR-(C)-(100)-5544 (MA) [ Turn over 

Qn. 

Nos. 
Value Points 

Marks 

allotted 

  ∴ �����9�
� = 40 km/hr  

37.  ��GK��8(Evaluate) � 

 
ooo

oooo

45cot60cos230sec3

60cosec.345tan)3090(cos2

++

−+−
 

Ans. : 
 

 
°+°+°

°−°+°−°

45cot60cos230sec.3

60cosec.345tan)3090(cos2
 

=  
°+°+°

°−°+°

45cot60cos230sec.3

60cosec.345tan30sin2
 ½ 

 = 

1
2

1
2

3

2
3

3

2
31

2

1
2

+







+

















−+









  1½ 

 = 
112

211

++

−+
 ½ 

 = 
4

0
 ½ 

 = 0 

∴  0
45cot60cos230sec.3

60cosec.345tan)3090(cos2
=

°+°+°

°−°+°−°
 

3 

 38. � ���%���& � kl����������́� kl�(Plane)�����$�?���'��������́�Î��( �9���&��a�¾)�#&'�B�d�*
� �§+�º �30°�� �§+�º �����$���,-�9�����́�?���'�����&������60°��f·���9�����́�[����50� ����&�
�7�� ´ k�

���GK�f·���9  

  



81-U 18 CCE PR/NSR & NSPR 

 PR/NSR&NSPR-(C)-(100)-5544 (MA)  

Qn. 

Nos. 
Value Points 

Marks 

allotted 

 �k� 

7��( �9���&�.��� � ´ k� (Top) �,-�9�����́�/� kl��?(Top)  §+��� ;���$��60° � ����'����i�����
(Foot)   � �01� ;���$��45°��a�¾)� 2�&'�}�3$���%�����́�������&�4���GK�f·���9�����́��� 

)3  = 1·73�5( 

 

Ans. : 

 f·���9�����́ = AB = 50 m 

f·���9���& = CD = h = ? 

B ∆ABD, 

 
BD

AB
=°60tan  ½ 

 
BD

50
3 =  ½ 

 
3

50
=BD  ................... (1) 

B ∆BCD, 

 
BD

CD
=°30tan  ½ 

 
BD

h
=

3

1
 ½ 
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 PR/NSR&NSPR-(C)-(100)-5544 (MA) [ Turn over 

Qn. 

Nos. 
Value Points 

Marks 

allotted 

 
3

1
×= BDh  ½ 

 = 
3

1

3

50
×  ? (1) ���� Q ½ 

 = 
3

2
16

3

50
=  meters. 

∴  f·���9���& 
3

2
16 m 

 

 

 

 

3 

  �k�  

 f·���9���& = 7 cm. 

f·���9�����́ = CD = CE + DE = ? 

 AB�� ����CD�a�&'�}�d�*  

∴ AB || CD. 
AB = DE = 7 m 

AE = BD ���� 
B ∆ABD, 

 
BD

AB
=°45tan  ½ 

 
BD

AB
=1  ½ 

 ∴  AB = BD 

 ∴ BD = 7 m .................. (1) ½ 

B ∆ACE, 

 
AE

CE
=°60tan  ½ 

 
7

3
CE

=  

 37=∴CE  ½ 

∴  f·���9�����́ = CE + DE 

  = 737 +  

  = )13(7 +  ½ 

  = )1731(7 +⋅  

  = 7( 2·73 ) 
  = 19·11 metres 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
3 



81-U 20 CCE PR/NSR & NSPR 

 PR/NSR&NSPR-(C)-(100)-5544 (MA)  

Qn. 

Nos. 
Value Points 

Marks 

allotted 

∴  f·���9�����́ 19·11 metses. 

39. � ����[�P  ( 2,  3 )��ÎQ ( 4,  k )������R ( 6,  – 3 )���9�
��7�A�^‘k’�� ��8(value) ����GK  

 �k�  
� � �
.
çg� �� m� M�

¸
¹�&� kl�P ( 2, 3 )�� ��� Î�A ( 4,  3 ) �� � ���B ( x,  5 ) � 
� 7� � ���6� ?‘x’��GK� �8� 9

��  

Ans. :  

 ½ P (2, 3 )�ÎQ ( 4, k ) �� ����R (6, – 3 ) ���� ��7�7 ������������8�?�dN��
�7�A�̂ 

������ ])()()([
2

1

213132321
yyxyyxyyx

le −+−+−=∆  ½ 

 0 = ])3(6)33(4))3((2[
2

1
kk −+−−+−−  ½ 

 0 = 2 ( k + 3 ) + 4 ( – 6 ) + 6 ( 3 – k ) ½ 

 0 = 2 k + 6 – 24 + 18 – 6k ½ 
 0 = 0 – 4k 
 4k = 0 

 k = 
4

0
 

 k = 0 ½ 

 

 

 

 

 

 

 

3 

  �k�  

 PA  =  PB  ½ 

2222 )35()2(0)24( −+−=+− x  ½ 

22   =  ( x – 2 ) 2  + 2 2  1 

( x – 2 ) 2  = 0 ½ 

x  =  2 ½ 3 

 40. �ØÐ�&���i����VW���&(Mean) �� �»¼� �n��(Direct method)�����Ü�k��&�?  

9��i: &; 

5 — 15 1 

15 — 25 3 

25 — 35 5 

35 — 45 4 

45 — 55 2  
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 PR/NSR&NSPR-(C)-(100)-5544 (MA) [ Turn over 

Qn. 

Nos. 
Value Points 

Marks 

allotted 

 �k� 

  �ïð����i����VW���&(Median) ����GK 

9��i: &; 

0 — 20 6 

20 — 40 9 

40 — 60 10 

60 — 80 8 

80 — 100 7 

Ans. : 

 C-I i
f  

i
x  

ii
xf  

5-15 1 10 10 

15-25 3 20 60 

25-35 5 30 150 

35-45 4 40 160 

45-55 2 50 100 

 ∑ =15
i

f   ∑ =480
ii

xf  

              ØÐ�& = 
∑

∑
i

ii

f

xf
 ½ 

  
15

480
=x  ½ 

  32=x  ½ 

  To find ∑ i
f  ½ 

  To find i
x  ½ 

  To find ii
xf  and 

  ∑ ii
xf  ½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 
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 PR/NSR&NSPR-(C)-(100)-5544 (MA)  

Qn. 

Nos. 
Value Points 

Marks 

allotted 

  �k� 

 

  

9��i: &; &;�<= 

0-20 6 6 

20-40 9 15 

40-60 10 25 

60-80 8 33 

80-100 7 40 

  ½ 

n = 40,   20
2

40

2
==∴

n
 ½ 

��9��i:40-60 �B20���&
I��������  

∴ l = 40 

cf = 15 

f = 10 

  h = 20 ½ 

  ïð� = h
f

cf
n

l ×


















−

+ 2  ½ 

         = 20
10

1520
40 ×







 −
+  ½ 

= 40 + ( 5 )  ( 2 ) 

= 40 + 10 

= 50 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 CCE PR/NSR & NSPR 

 PR/NSR&NSPR

Qn. 

Nos. 

∴   ïð� = 50  

 41. ����� ����� ����T>��9�� �? ?(Less 

 (B cm

� �? 130

� �? 140

� �? 150

� �? 160

� �? 1

� �? 1

Ans. : 

 

  

23 

PR/NSR&NSPR-(C)-(100)-5544 (MA) 

Value Points 

(Table)�� ���i: �R�&60�� �8���@(Height)������ ����� ����T
�Ú��(ogive)����EÖ  

cm)f·�� �&�;�9�@ 

y&;�<=�  

130 
04 

140 
12 

150 
30 

160 
45 

170 
56 

180 
60 

 

Scale x & y axis 

81-U 

[ Turn over 

Marks 

allotted 

½ 3 

� �²�Ç �È�VW���&(Table)

than type)���Ú��

 

 

 ½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



81-U 

 PR/NSR&NSPR

Qn. 

Nos. 

  

  

 42. #�� ��a�27 

Ans. : 

 

PR ��û�ü  

 ∠OQP 

OQ = OR  

OP = OP 

∴ ∆POQ ≅ ∆POR  

∴ PQ = PR 

24 CCE P

PR/NSR&NSPR-(C)-(100)-5544 (MA) 

Value Points 

Plotting 6 points 

Drawing graph 

�� �¹�� �¹��@��9���þ�û�ü�?�:�#� ������T�M�
¸
¹�&� kl������ � �å� Ô�y#��

 

�A�é:  'O'�� �:�#� ������T�M�
¸
¹�&����

.
çg'P' �iþ��&�?PQ �����PR

� �Ý���� .��� � �å� Ô�PQ = PR����� ��7  

:   OP��ÎOQ�� ����OR�E��T  

��B: POQ ∆ ����� POR ∆ �B 

= ∠ORP  Q ��� ��7�&'�}�iþ�O�P�}�iC �:�

Q yO�P���M�
¸
¹�&�°� kl��  

Q y«�01�  

Q DE RHS 

Q C.P.C.T. 

CCE PR/NSR & NSPR 

 

Marks 

allotted 

 1½ 

 1 

 

3 

�� �¹�� �¹��@��9���þ�û�ü�?�:�#� ������T�M�
¸
¹�&� kl������ � �å� Ô�

 

½ 

½  �A�é

½  � �Ý���� .��� � �å� Ô�

½  �F:

  ��B

y��� ��7�&'�}�iþ�O�P�}�iC �:  

½ 

½ 

 

 

 

 

 

 

 

 

 

 

 

 

3 



 CCE PR/NSR & NSPR 

 PR/NSR&NSPR

Qn. 

Nos. 

�

 43. ����$�dÐ�&���60°���7  

Ans. : 

 ���$�dÐ�&�����O�P 

   

   

   

V. : � ��R&�Å�
����U���VW�X�Y

 44. ���Ü�k��&�S���¾	
����������VW���&�?�»¼:  
 2x – y = 7 

 x – y =  2 

Ans. : 

 2x – y = 7    and x 

∴ y = 2x – 7 

 

x – y = 2 or 

y = x – 2 

25 

PR/NSR&NSPR-(C)-(100)-5544 (MA) 

Value Points 

yÆ&� �|���Ä�}�J��Å� Ô��?�»¼�����fT�  

 �O�P������$�dÐ�&���G �EÖ�#	
� kl��9���þT�M�
¸
¹�&

 = 180° – 60° = 120°  

 

M�
¸
¹�& 
O�P��& 
iþ��& 

�� ��R&�Å�
����U���VW�X�Y   

���Ü�k��&�S���¾	
����������VW���&�?�»¼

 – y = 2 

 

81-U 

[ Turn over 

Marks 

allotted 

 3 cm 

 

½ 

 

½ 

½ 

1½ 3 

4 × 4 = 16  

���[yH �
�
¹ ����Ü�k��&�S���¾	
����������VW���&�?�»¼

 

 

 

 

 

 

 



81-U 

 PR/NSR&NSPR

Qn. 

Nos. 

 

  

  

  To mark point of intersection and answer

 45. � ���AC = 4·5 cm� ������ kl�� �a

Ans. : 

26 CCE P

PR/NSR&NSPR-(C)-(100)-5544 (MA) 

Value Points 

 

Table 

Two straight lines 

To mark point of intersection and answer 

ABC�� � §¨����m�EÖBC = 6 cm� � ÎAB = 5 cm�� ���
���§¨����m�EÖ��ABC���§¨��#ö��

3

4����7�� 

CCE PR/NSR & NSPR 

 

Marks 

allotted 

 

2 

1 

 1 

 

 

 

 

 

 

 

 

 

 

 

4 

 � � �� kl�ABC

���§¨����m�EÖ��

 



 CCE PR/NSR & NSPR 

 PR/NSR&NSPR

Qn. 

Nos. 

 

∆ABC ~ ∆A
/
BC

/
 

  

  

  

  

 46. �Ig�T��ù���Ig�
��Ã��k�Ö�M�
¸
¹�&� kl��������

R�� ����S��J�����ù���Ig
���GK������K 

Ans. : 

 a = 14 cm 

O�P���M�
¸
¹�& = O�P���M�

¸
¹�&�f

27 

PR/NSR&NSPR-(C)-(100)-5544 (MA) 

Value Points 

 

→  N �9���û�
¸ kO& 

→  �� .�� Ô
.

Õ�#����6�����A����$�M&x 

    →  ���#$�%��& 
∆A

/
BC

/
 

�«���m���Ig� kl�14 cm�g�
��Ã��k�Ö�M�
¸
¹�&� kl��������Ig���

��� ��÷�}����J���[�����Ã��k�P&�BQ�Ý�RP�ÎQ�ÎR

PQ�ÎQR�ÎRS �����SP����GK������K ���&��	�
���7�L� ���¾�
¸
¹�&

 

O�P���M�
¸
¹�&�fM- 

81-U 

[ Turn over 

Marks 

allotted 

1 

 ½ 

2 

½ 4 

ABCD��«���m���Ig� kl�
���§¨������ ��÷�}����J�

������7���PQ
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 PR/NSR&NSPR-(C)-(100)-5544 (MA)  

Qn. 

Nos. 
Value Points 

Marks 

allotted 

 
2

14
=r  

 r = 7 cm ½ 

�����K ���&��	 =  

[������Ig – �����M�
¸
¹�& ] + [ ������Ig – 4 × ��M�

¸
¹�&�fM-���  ] 1 

= [ ] 







π×−+π− 2222

4

1
4 rara  1 

= [ ] [ ]2222
rara π−+π−  

= [ ]22
2 ra π−  

= 











××− 1

1

2
77

7

22
142  ½ 

= [ ]1541962 −  ½ 

= 2 [ 42 ] 

= 84 cm
2

 ½ 

�����K ���&��	 = 84 cm
2
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 47. � �f·���9�m�S ���T �Ø���� kl�32�� �O�P���M)"������ ´ k��U18��i�����f7�#V �?� � kå����� ´ k��U
�f·���9�W��X�¶�[������ ��v��k�&�Ö�W��X�¶� kl����²���}�3$���%�T� � kå��GC�&
I�B�S ���24� ��U

���Ü�k��&�f·���Y�
�
¹�����O���W��
�7�� ´ k�  

 

 �k�  
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 PR/NSR&NSPR-(C)-(100)-5544 (MA) [ Turn over 

Qn. 

Nos. 
Value Points 

Marks 

allotted 

� �O�P���M)"�����¶�����7�Z�´ '½}�MN��
. º

.
[���¶� kl��Ý���ø¼�i�� � .�\ � kl�21 cm� ��9�� .�\����

�
��� �f·��49 cm�����]���� .�\ ���(SA) ����Ü�k��&  

 

Ans. : 

 �f·���9�Ø��� = 1
h = 32 cm 

O�P���Ø��� = 1
r = 18 cm 

f·���9�W��X�¶ = 2
h = 24 cm 

O�P���W��X�¶ = 2
r = ? 

f·���Y�
�
¹�9�W��X�¶ = l = ?  ½ 

                                              ���L���W��X�¶��� � kå� = L��� � kå��B�S ���T �Ø���  

2
2
21

2
1 3

1
hrhr π=π   ½ 

3

24
3218

2
22 ×

=×
r

 

18

14
2
2 24

3321818 ×××
=r   ½ 

2
2

r  = 18 × 18 × 2 × 2 

2
2

r  = 18
2 × 2

2
 

218
2

×=∴r  

  36
2

=∴r   ½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



81-U 30 CCE PR/NSR & NSPR 

 PR/NSR&NSPR-(C)-(100)-5544 (MA)  

Qn. 

Nos. 
Value Points 

Marks 

allotted 

�O�P���W��X�¶��� � kå� 362 =r cm 

f·���Y�
�
¹�9�W��X�¶��� � kå� = 2

2
2
2

hrl +=  ½ 

 = 
22

2436 +  

 = 5761296 +  ½ 

 = 1872  

 = 1343
22 ××  

 1312=l cm ½ 

f·���Y�
�
¹�9�W��X�¶��� � kå� 1312=l cm 

 

 

 

 

 

 

 

 

 

4 

  �k� 

 

 � � �O�P���MN��P=    O�P�����¶  

r = 21 cm 

f·��� �̂9�Ø_`¡aº b = 49 cm 

�f·���9���¶ = ( 49 – 21 ) cm 

 = h = 28 cm ½ 

f·���Y� º
�
¹�9���¶   = 

 
22

hrl +=  ½ 

 = 
22

2821 +  

 = 784441+  

 = 1225  

 = 4925×  

 l = 35 cm ½ 

���] ���Ø\ = �������M� �9���¶ + �������M��9�MN��P ½ 

�� = 
2

2 rrl π+π  

 = )2( rlr +π  ½ 

 



 CCE PR/NSR & NSPR 

 PR/NSR&NSPR

Qn. 

Nos. 

 = 35(21
7

22 3

1

×

 = 66 ( 35 + 42 )

 = 66 ( 77 ) 

 = 5082 cm
2

 

∴ �] ���Ø_`¡aº b��  = 5082 cm

VI. : ²���VW�X�Y�R��S�T

 48. ���27�� �¹�� �¹���9�§¨��#ö���dN�� �
�

å��7�� �¹�� �¹�õ��$�#ö�B��y�M��d

Ans. : 

 

           ∠A = ∠

DP = Î DQ = AC ���� PQ��T

 AB = DP 

 ∠A = ∠D 

31 

PR/NSR&NSPR-(C)-(100)-5544 (MA) 

Value Points 

)21(235 +  

= 66 ( 35 + 42 ) 

 

5082 cm
2

. 

²���VW�X�Y 

���27�� �¹�� �¹���9�§¨��#ö���dN�� �
�

å��7�� �¹�� �¹�õ��$�#ö�B��c ��&�[��Ý��� � �å� Ô�
a�b7� �n� .

�
 ��a�b7�ñò����{�&�f�i�����  

 

�A�é: ∆ABC ������∆DEF �B  

∠D,  ∠B = ∠E,  ∠C = ∠F 

���� ���� � �å� Ô�: 
DF

AC

EF

BC

DE

AB
==  

DE } 'P'  �� ��� DF } Q�Ý� Eg� ø¼� i�� �� .�� Ô
.

Õ= AB

  ∆ABC � ����∆DPQ�B  

Q ?�F 

Q ?�A�é 

81-U 

[ Turn over 

Marks 

allotted 

½ 

½ 

½ 

1 × 5 = 5  

 ���27�� �¹�� �¹���9�§¨��#ö���dN�� �
�

å��7�� �¹�� �¹�õ��$�#ö�B��c ��&�[��Ý��� � �å� Ô�
a�b7� �n� .

�
e

 

½ 

  �A�é

½ 

½  ���� ���� � �å� Ô�

½  �F: DE

E�  

   ��B: 
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 PR/NSR&NSPR-(C)-(100)-5544 (MA)  

Qn. 

Nos. 
Value Points 

Marks 

allotted 

 AC = DQ Q ?�F 

∴ ∆ABC ≅ ∆DPQ Q DE SAS 1 

∴ BC = PQ 

��� ∠ABC = ∠DPQ  C.P.C.T ½ 

��� ∠ABC = ∠DEF ½ 

⇒ ∠DPQ = ∠DEF 

⇒  PQ ||EF Q õ��$�#ö ½ 

∴ 
EF

PQ

DF

DQ

DE

DP
==  Q �? corollary ����#&h ��� �n� 

 
EF

BC

DF

AC

DE

AB
==  Q DP = AB 

   DQ = AC 

   PQ = BC ½ 

∴  ∆ABC ~  ∆DEF 

yR&� �|�?�J��²Â��»¼������&�fT�  
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